RESOLUTION NO. 2555

A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF PORTOLA AUTHORIZING PAYMENT OF CLAIMS FOR THE PERIOD JUNE 29, 2023 THROUGH JULY 12, 2023.

ACCOUNTS PAYABLE CHECK NUMBERS: 44965–45007

PAYROLL CHECK NUMBERS: 17272 – 17280

WHEREAS, the City Council of the City of Portola has been fully advised that all such claims and demands are legal obligations of the City; and,

WHEREAS, the City Council has fully considered the claims and money demands and payment thereof as set forth below and in "Exhibit A" attached hereto and incorporated herein.

ACCOUNTS PAYABLE: \$98,005.57 PAYROLL: \$38,081.19 TOTAL: \$136,086.76

NOW THEREFORE BE IT RESOLVED THAT all claims and demands represented are just and proper and legal demands or claims against the City of Portola, and the payment of any such demands is approved and authorized.

PASSED, APPROVED AND ADOPTED this 12th day of July, 2023 by the following vote:

AYES: _____

NOES:	
ABSTAIN:	<u> </u>
ABSENT:	_
	Bill Powers, Mayor
ATTEST:	
Jason Shaw, Deputy City Clerk	
	City of Portola, do hereby certify that the above and foregoing y the City Council at the City of Portola Regular meeting thereof
	Jason Shaw, Deputy City Clerk

Resolution No. 2555 July 12, 2023

6/27/2023 3:51 PM

DIRECT PAYABLES CHECK REGISTER

PACKET: 00245 AP RUN 6.28.2023

VENDOR SET: 01 CITY OF PORTOLA BANK: PC POOLED CASH - PLUMAS **** CHECK LISTING ****

PAGE: 1

VENDOR	I.D.	NAME	CHECK TYPE		DISCOUNT	AMOUNT	CHECK NO#	CHECK AMOUNT
000009	I-202306271407	CRESCENT TOW & REPAIR COMMUNITY CLEAN UP	R	6/28/2023		750.00	044965	750.00
000014	I-202306271370	SWIMOUTLET POOL SUPPLIES	R	6/28/2023		626.70	044966	626.70
000029	I-202306271365	COUNTRY BREEZE CLEANING CLEANING SERVICES	R	6/28/2023		400.00	044967	400.00
000041	I-202306271406	THE MOUNTAIN MESSENGER PUBLIC HEARING NOTICE	R	6/28/2023		151.77	044968	151.77
000045	I-202306271405	PACE ANALYTICAL SERVICES LI LANDFILL TESTING		6/28/2023		4,245.00	044969	4,245.00
0005	I-202306271391	AIRGAS, INC. ACETLENE/OXYGEN	R	6/28/2023		880.99	044970	880.99
0007	I-202306271388	ALPINE FIRE SERVICES, INC CITY POOL PROF SERVICES	R	6/28/2023		48.47	044971	48.47
0015	I-202306271389	AMERIGAS POOL PROPANE	R	6/28/2023		1,465.07	044972	1,465.07
0021	I-202306271392	AT&T 800 EMER LINE	R	6/28/2023		4.41	044973	4.41
0022	I-202306271397	AT&T LONG DISTANCE	R	6/28/2023		37.55	044974	37.55
0023	I-202306271369	AT&T CALNET 3 SCADA LDWTP	R	6/28/2023		51.10	044975	51.10
0029	I-202306271381	BC LABORATORIES, INC. TESTING	R	6/28/2023		2,484.00	044976	2,484.00
0045	I-202306271404	CALRECYCLE BEVERAGE CONTAINER PROGRAM	R	6/28/2023		101.97	044977	101.97
0048	I-202306271393	CBC COMPANIES-FACTUAL DATA UB CREDIT CHECKS		6/28/2023		35.00	044978	35.00
0062	I-202306271398	CSG CONSULTANTS, INC.	R	6/28/2023		3,120.00	044979	3,120.00

6/27/2023 3:51 PM

DIRECT PAYABLES CHECK REGISTER

PACKET: 00245 AP RUN 6.28.2023

VENDOR SET: 01 CITY OF PORTOLA

BANK: PC POOLED CASH - PLUMAS

I-202306271394

**** CHECK LISTING ****

PAGE: 2

520.99 044994 520.99

CHECK CHECK CHECK CHECK NAME TYPE DATE DISCOUNT AMOUNT NO# AMOUNT VENDOR I.D. 0090 GRAINGER I-202306271383 MATERIALS & SUPPLIES R 6/28/2023 933.42 044980 933.42 0096 HARBOR FREIGHT TOOLS 334.77 044981 I-202306271384 WATER/SEWER MATERIALS R 6/28/2023 334.77 0111 JEFFERSON SUPPLY COMPANY 839.23 044982 I-202306271372 MATERIALS & SUPPLIES R 6/28/2023 839.23 0112 JOHNSON'S METAL RECYCLERS 2,700.00 044983 2,700.00 I-202306271408 COMMUNITY CLEAN UP R 6/28/2023 0118 KANSAS LIFE INSURANCE CO I-202306271401 EMPLOYEE LIFE INSURANCE R 6/28/2023 69.54 044984 69.54 0122 KIMBALL MIDWEST WATER LINE REPAIR R 6/28/2023 I-202306271371 196.75 044985 196.75 0126 L.N. CURTIS & SONS I-202306271399 PGE SETTLEMENT MATERIALS R 6/28/2023 8,257.68 044986 8,257.68 0133 LIBERTY UTILITIES I-202306271380 CITY ELECTRIC BILLS R 6/28/2023 7,147.09 044987 7,147.09 0136 MANHARD CONSULTING I-202306271396 PLANNING PROF SERVICES R 6/28/2023 1,280.00 044988 1,280.00 0139 MCCOLLUM EQUIPMENT REPAIR I-202306271373 WATER/SEWER EQUIP REPAIR R 6/28/2023 12,367.69 044989 12,367.69 0148 NAPA SIERRA I-202306271390 MATERIALS & SUPPLIES R 6/28/2023 316.51 044990 316.51 0159 OFFICE DEPOT I-202306271400 OFFICE SUPPLIES R 6/28/2023 530.45 044991 530.45 0175 PLUMAS ACE HARDWARE I-202306271375 MATERIALS & SUPPLIES R 6/28/2023 1,189.08 044992 1,189.08 0188 PORTER SIMON CORPORATION I-202306271367 LEGAL SERVICES R 6/28/2023 6,165.00 044993 6,165.00 0192 PURCHASE POWER POSTAGE FOR METER R 6/28/2023

6/27/2023 3:51 PM

DIRECT PAYABLES CHECK REGISTER

PACKET: 00245 AP RUN 6.28.2023

VENDOR SET: 01 CITY OF PORTOLA **** CHECK LISTING ****

BANK: PC POOLED CASH - PLUMAS

VENDOR	I.D.	NAME	CHECE TYPE		DISCOUNT	AMOUNT	CHECK NO#	CHECK AMOUNT
0208	I-202306271382	SAUERS ENGINEERING, INC. WATER PROF SERVICES	R	6/28/2023		7,417.50	044995	7,417.50
0211	I-202306271368	SIERRA BUTTES GRAVEL GRINDERS	R	6/28/2023		16,000.00	044996	16,000.00
0218	I-202306271386	SILVER STATE ANALYTICAL WATER/WASTEWATER TESTING	R	6/28/2023		758.00	044997	758.00
0230	I-202306271376	STATE WATER RESOURCES CONT PATO CERT RENEWAL		6/28/2023		60.00	044998	60.00
0234	I-202306271387	SUPERIOR POOL PRODUCTS, LI POOL SUPPLIES/CHEMICALS		6/28/2023		995.49	044999	995.49
0235	I-202306271366	SUSAN SCARLETT ACCOUNTING SERVICES	R	6/28/2023		5,000.00	045000	5,000.00
0239	I-202306271374	THATCHER , INC CHEMICALS	R	6/28/2023		6,609.40	045001	6,609.40
0260	I-202306271377	VERIZON WIRELESS CITY LAND LINES	R	6/28/2023		489.24	045002	489.24
0260	I-202306271378	VERIZON WIRELESS CITY CELL PHONES	R	6/28/2023		942.14	045003	942.14
0260	I-202306271379	VERIZON WIRELESS LDWTP DATA PLAN	R	6/28/2023		108.05	045004	108.05
0264	I-202306271385	WESTERN NEVADA SUPPLY WATER EMER MANAGEMENT	R	6/28/2023		1,889.23	045005	1,889.23
1	I-202306271403	KELLIE PATO TRAINING REIM	R	6/28/2023		320.29	045006	320.29
1	I-202306271409	FRANK EMSOFF PERMIT REFUND	R	6/28/2023		166.00	045007	166.00
	REGULAR HANDWRI	ECKS: 0	#	DISCOUNTS 0.00 0.00 0.00 0.00 0.00 0.00	CHECK AMT 98,005.57 0.00 0.00 0.00 0.00		AL APPLIED 98,005.57 0.00 0.00 0.00 0.00	
	CORRECT BANK TO			0.00	0.00 98,005.57		0.00 98,005.57	

PAGE: 3

6/27/2023	3:51 PM	DIRECT PAYABLES CHECK REGISTER	
PACKET:	00245 AP RUN 6.28.2023		

BANK: ALL

VENDOR SET: 01 CITY OF PORTOLA **** CHECK LISTING ****

** REGISTER GRAND TOTALS *

PAGE: 4

* * TOTALS * *	NO#	DISCOUNTS	CHECK AMT	TOTAL APPLIED
REGULAR CHECKS:	43	0.00	98,005.57	98,005.57
HANDWRITTEN CHECKS:	0	0.00	0.00	0.00
PRE-WRITE CHECKS:	0	0.00	0.00	0.00
DRAFTS:	0	0.00	0.00	0.00
VOID CHECKS:	0	0.00	0.00	0.00
NON CHECKS:	0	0.00	0.00	0.00
CORRECTIONS:	0	0.00	0.00	0.00
REGISTER TOTALS:	43	0.00	98,005.57	98,005.57

** POSTING PERIOD RECAP **

FUND	PERIOD	TNUOMA
100	6/2023	50,292.04CR
207	6/2023	3,940.20CR
208	6/2023	463.29CR
215	6/2023	250.00CR
710	6/2023	23,464.91CR
720	6/2023	12,231.00CR
730	6/2023	7,364.13CR
ALL		98,005.57CR

TOTAL ERRORS: 0 TOTAL WARNINGS: 0



City of Portola Minutes Regular Meeting June 28, 2023 06:00 PM 35 Third Ave Portola, 96122

https://www.cityofportola.com/

COUNCILMEMBERS

Mayor Bill Powers • Mayor Pro Tem Pat Morton • Councilmember Stan Peiler • Councilmember Leah Turner • Councilmember Jim Murphy

1. Call to Order

The meeting was called to order at 6:00 pm by Mayor Bill Powers.

A. Pledge of Allegiance Lead by Mayor Bill Powers

B. Roll Call

Present: Mayor Bill Powers, Mayor Pro Tem Pat Morton, Councilmember Leah Turner, Councilmember lim Murphy

Absent: Councilmember Stan Peiler

Staff Present: Interim City Manager - Jon Kennedy, Deputy City Clerk - Jason Shaw, Financial Officer Susan Scarlett ,City Attorney -Steve Gross (remotely), Engineer Dan Bastian

2. Public Comments

There were no public comments.

3. CITY COMMUNICATIONS

A. City Council Communications / Committee Reports

Councilmember Leah Turner: Nothing to Report

Councilmember Jim Murphy: Attended the SCORE Board of Directors Meeting where they approved the budget. Attended LAFCo meeting.

Mayor Pro Tem Pat Morton: Attended County Board of Supervisor Meeting, Attended LAFCo meeting, attended the Plumas County Transportation Commission Meeting, Attended the Beckwourth Fire Department meeting

Mayor Bill Powers: Attended the LAFCo meeting, Attended the Plumas County Transportation Commission Meeting which approved around 17 resolutions,

B. Staff Communications / Fire Report / Sheriff's Report / Air Quality Report

No Fire Report.

No Sherriff Report.

Air Quality Report, Mikki Brown: Delivered 11 wood sheds with 28 total installations paid out. Looking for volunteers to help with air quality testing. Thanked public works for assisting in depositing of old wood stoves.

C. City Manager Report

Pool is up and running and we have a few lifeguards sharing a few responsibilities; been dealing with fire department issues including the collapse of EPRFPD, looking for outside funding for Beckwourth Fire.

4. C	onse	nt A	\ger	ıda
-------------	------	------	------	-----

A. **Claims**- Adopt Resolution No. 2549 authorizing payment of claims for the period of June 15, 2023 though June 28, 2023Payroll: \$24,416.24Total: \$24,416.24Payroll Check Run #17261 – 17271 Mayor Pro Tem Pat Morton motioned to approve. A second was made by Councilmember Leah Turner.

The motion passed with the following vote:

- $\begin{array}{c|cccc} \underline{4} & \text{In Favor} & \underline{0} & \text{Opposed} \\ \hline \underline{0} & \text{Abstained} & \underline{1} & \text{Absent} \end{array}$
- B. Approve Minutes from 5-24-2023 and Minutes from 6-14-2023 motioned to approve. A second was made by Councilmember Leah Turner.

The motion passed with the following vote:

- 4 In Favor 0 Opposed Abstained 1 Absent
- 5. North Loop Phase 1 Change Order 23-01

Engineer Dan Bastian went over the requested change order for the North Loop Phase 1 Project. They were able to redo the surface of the road using a different methodology then was planned. This different process allowed for a significant savings so far.

Mayor Pro Tem Pat Morton motioned to approve. A second was made by Councilmember Leah Turner. The roll call vote:

<u>Aye</u> Mayor Bill Powers <u>Aye</u> Mayor Pro Tem Pat Morton <u>Aye</u> Councilmember Leah Turner <u>Aye</u> Councilmember Jim Murphy <u>Nay</u> Councilmember Stan Peiler

6. GANN Limit, Investment Policy, Pay Schedules and CCR 570.5 resolution, reduction in Landfill Closure Fee and Budget Adoption

Financial Officer Susan Scarlett explained the purpose of each budget resolution.

Approve Resolution 2550 - GANN Limit

Councilmember Leah Turner motioned to approve. A second was made by Councilmember Jim Murphy. The roll call vote:

<u>Aye</u> Mayor Bill Powers <u>Aye</u> Mayor Pro Tem Pat Morton <u>Aye</u> Councilmember Leah Turner Aye Councilmember Jim Murphy Absent Councilmember Stan Peiler

7. Approve Resolution 2551 - Investment Policy

Councilmember Jim Murphy motioned to approve. A second was made by Councilmember Leah Turner. The roll call vote:

<u>Aye</u> Mayor Bill Powers <u>Aye</u> Mayor Pro Tem Pat Morton <u>Aye</u> Councilmember Leah Turner <u>Aye</u> Councilmember Jim Murphy <u>Absent</u> Councilmember Stan Peiler

8. Adopt Resolution 2552 adopting the pay schedules and job classifications effective July, 1, 2023 Mayor Pro Tem Pat Morton motioned to approve. A second was made by Councilmember Leah Turner. The roll call vote:

<u>Aye</u> Mayor Bill Powers <u>Aye</u> Mayor Pro Tem Pat Morton <u>Aye</u> Councilmember Leah Turner <u>Aye</u> Councilmember Jim Murphy <u>Absent</u> Councilmember Stan Peiler

9. **Adopt Resolution 2553 - Monthly rate for the solid waste landfill closure fee** Councilmember Jim Murphy motioned to approve. A second was made by Councilmember Leah Turner. The roll call vote:

<u>Aye</u> Mayor Bill Powers <u>Aye</u> Mayor Pro Tem Pat Morton <u>Aye</u> Councilmember Leah Turner <u>Aye</u> Councilmember Jim Murphy <u>Absent</u> Councilmember Stan Peiler

10. Adopt Resolution 2554 - Approving the operating budget for fiscal year 2023/2024 Councilmember Jim Murphy motioned to approve. A second was made by Mayor Pro Tem Pat Morton. The roll call vote:

<u>Aye</u> Mayor Bill Powers <u>Aye</u> Mayor Pro Tem Pat Morton <u>Aye</u> Councilmember Leah Turner <u>Aye</u> Councilmember Jim Murphy <u>Absent</u> Councilmember Stan Peiler

11. Adjournment

Meeting was adjourned by Mayor Bill Powers at 6:45 PM.



City of Portola

35 Third Avenue • P.O. Box 1225
Portola, California 96122
Fax: (530) 832-5418
(530) 832-4216
www.ci.portola.ca.us

M E M O July 3, 2023

TO:

Portola City Council and Jon Kennedy, City Manager

FROM: Daniel B. Bastian, City Engineer

RE:

CONTRACT 22- PORTOLA STIP - NORTH LOOP PHASE I

PROGRESS PAYMENT No. 2

Please find attached the Progress Payment #2 tabulation summary for the subject Project. This payment request reflects the work completed up to June 26, 2023. The payment estimate has undergone a thorough review to ensure accuracy and completeness.

I kindly request that this matter be scheduled for consideration and approval by the Council at the next available regular Council meeting.

The total value of work reported in this payment estimate amounts to \$132,393.04 (as indicated in the attached payment tabulation summary), with a total expense of \$207,570.08. This total expense represents approximately 9.4% of the total contract amount.

It is worth noting that the State has allocated a total of \$3,024,000 for all contract items, including "soft costs" such as testing, inspection, administration, and contingencies. The contract with Q&D Construction amounts to \$2,209,000.

The work encompassed in this payment request primarily pertains to the construction of retaining walls, curb and gutters, with a portion allocated for water pollution and traffic control. No retention is being held for this payment request. *

Please review the attached documentation for further details. Thank you for your attention to this matter.

* No retention is withheld pursuant to Standard Specification 9-1.16F which states:

"The Department does not retain moneys from progress payments due to the Contractor for work performed (Pub Cont. Code § 7202)." This project has performance and payment bonds and therefore, no retention is required.

PPE#2.mem

Attachments

From: Q&D Construction LLC

PO Box 10865 Reno, NV 89510 Invoice: 16351-002

Date: 06/26/23

Application #: 2

To: City of Portola

PO Box 1225 / 35 Third Avenue

Portola, CA 96122

Invoice Due Date: 07/26/23

Payment Terms: Net 30 days

						Quantities		Ex				
Item	Description of Work	Quantity	U/M	Unit Price	Contract Amount	Previous Applications	This Period	To Date	Previous Applications	This Period	To Date	Amount Remaining
000	Bond	0.00	LS	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
010	MOVE-IN/MOVE-OUT	1.00	LSU	189,856.50	189,856.50	0.16	0.16	0.32	30,377.04	30,377.04	60,754.08	129,102.42
020	LEAD COMPLIANCE PLAN	1.00	LSU	1,750.00	1,750.00	0.00	0.00	0.00	0.00	0.00	0.00	1,750.00
030	CONSTRUCTION AREA SIGNS	1.00	LSU	12,000.00	12,000.00	0.00	0.50	0.50	0.00	6,000.00	6,000.00	6,000.00
040	TRAFFIC CONTROL	1.00	LSU	160,000.00	160,000.00	0.00	0.16	0.16	0.00	25,600.00	25,600.00	134,400.00
050	PORTABLE CHANGEABLE MESSAGE SIGN (2 Ea.)	1.00	LSU	10,000.00	10,000.00	0.00	1.00	1.00	0.00	10,000.00	10,000.00	0.00
060	JOB SITE MANAGEMENT	1.00	LSU	14,000.00	14,000.00	0.00	0.16	0.16	0.00	2,240.00	2,240.00	11,760.00
070	PREPARE WATER POLLUTION CONTROL PROGRAM (WPCP)	1.00	LSU	4,000.00	4,000.00	0.00	1.00	1.00	0.00	4,000.00	4,000.00	0.00
080	INSTALL SWPPP BMPS	1.00	LSU	7,500.00	7,500.00	0.00	0.50	0.50	0.00	3,750.00	3,750.00	3,750.00
090	INVASIVE SPECIES CONTROL	1.00	LSU	2,600.00	2,600.00	0.00	0.00	0.00	0.00	0.00	0.00	2,600.00
100	CLEARING AND GRUBBING	1.00	LSU	13,800.00	13,800.00	0.00	1.00	1.00	0.00	13,800.00	13,800.00	0.00
110	SAW CUT	410.00	LF	7.65	3,136.50	0.00	0.00	0.00	0.00	0.00	0.00	3,136.50
120	POTHOLE WATER & SEWER LINES FOR LOCATION & DEPTH	53.00	EA	1,400.00	74,200.00	32.00	0.00	32.00	44,800.00	0.00	44,800.00	29,400.00
130	STREET SWEEPING	1.00	LSU	30,000.00	30,000.00	0.00	0.00	0.00	0.00	0.00	0.00	30,000.00
140	COLD PLANE AC PAVEMENT	5,420.00	SY	2.85	15,447.00	0.00	0.00	0.00	0.00	0.00	0.00	15,447.00
150	REMOVE GRINDINGS (Add #1) To Landfill	1.00	LSU	12,000.00	12,000.00	0.00	0.00	0.00	0.00	0.00	0.00	12,000.00
160	REMOVE CURB	6.00	LF	185.00	1,110.00	0.00	6.00	6.00	0.00	1,110.00	1,110.00	0.00
170	REMOVE CURB, GUTTER AND SIDEWALK & DISPOSAL	6,216.00	SF	4.50	27,972.00	0.00	670.00	670.00	0.00	3,015.00	3,015.00	24,957.00
180	REMOVE CONCRETE DRIVEWAY & DISPOSAL	30.00	CY	460.00	13,800.00	0.00	0.00	0.00	0.00	0.00	0.00	13,800.00

From: Q&D Construction LLC

PO Box 10865 Reno, NV 89510 Invoice: 16351-002

Date: 06/26/23

Application #: 2

To: City of Portola

PO Box 1225 / 35 Third Avenue

Portola, CA 96122

Invoice Due Date: 07/26/23

Payment Terms: Net 30 days

						Quantities		Extended Costs				
Item	Description of Work	Quantity	U/M	Unit Price	Contract Amount	Previous Applications	This Period	To Date	Previous Applications	This Period	To Date	Amount Remaining
190	REMOVE CULVERTS	240.00	LF	109.00	26,160.00	0.00	0.00	0.00	0.00	0.00	0.00	26,160.00
200	DITCH EXCAVATION	40.00	CY	195.00	7,800.00	0.00	40.00	40.00	0.00	7,800.00	7,800.00	0.00
210	ROADWAY EX	2,450.00	CY	52.20	127,890.00	0.00	0.00	0.00	0.00	0.00	0.00	127,890.00
220	SIDEWALK, RAMPS AND DRIVEWAY EX	221.00	CY	79.00	17,459.00	0.00	71.00	71.00	0.00	5,609.00	5,609.00	11,850.00
230	STRUCTURE, RETAINING WALL EX	120.00	CY	136.00	16,320.00	0.00	117.00	117.00	0.00	15,912.00	15,912.00	408.00
240	CONCRETE VALLEY GUTTER EX	26.00	CY	110.00	2,860.00	0.00	0.00	0.00	0.00	0.00	0.00	2,860.00
250	SUBGRADE ENHANCEMENT CLASS 3B	5,500.00	SY	4.65	25,575.00	0.00	0.00	0.00	0.00	0.00	0.00	25,575.00
260	CLASS 2 AGGREGATE SUBBASE	2,380.00	CY	159.00	378,420.00	0.00	20.00	20.00	0.00	3,180.00	3,180.00	375,240.00
270	CLASS 2 AGGREGATE CURB BACKING	100.00	TON	167.00	16,700.00	0.00	0.00	0.00	0.00	0.00	0.00	16,700.00
280	ROCK SLOPE PROTECTION (60 LB, CLASS II, METHOD B	30.00	CY	322.00	9,660.00	0.00	0.00	0.00	0.00	0.00	0.00	9,660.00
290	ROCK SLOPE FABRIC CLASS	50.00	SY	18.35	917.50	0.00	0.00	0.00	0.00	0.00	0.00	917.50
300	TEMPORARY CONCRETE WASHOUT	1.00	LSU	1,518.00	1,518.00	0.00	0.00	0.00	0.00	0.00	0.00	1,518.00
310	MINOR CONCRETE, A2-6 CURB AND GUTTER	164.00	CY	818.00	134,152.00	0.00	0.00	0.00	0.00	0.00	0.00	134,152.00
320	MINOR CONCRETE, A1-6 MODIFIED	11.00	CY	1,878.00	20,658.00	0.00	0.00	0.00	0.00	0.00	0.00	20,658.00
330	MINOR CONCRETE, A1-6 RETAINING CURB	14.00	CY	1,812.00	25,368.00	0.00	0.00	0.00	0.00	0.00	0.00	25,368.00
340	MINOR CONCRETE, 4" SIDEWALK	140.00	CY	552.00	77,280.00	0.00	0.00	0.00	0.00	0.00	0.00	77,280.00
350	MINOR CONCRETE, DRIVEWAY (6")	80.00	CY	536.00	42,880.00	0.00	0.00	0.00	0.00	0.00	0.00	42,880.00
360	MINOR CONCRETE, 6" VALLEY GUTTER	24.00	CY	1,160.00	27,840.00	0.00	0.00	0.00	0.00	0.00	0.00	27,840.00

From: Q&D Construction LLC

PO Box 10865 Reno, NV 89510

Portola, CA 96122

Invoice: 16351-002

Date: 06/26/23

Application #: 2

To: City of Portola

PO Box 1225 / 35 Third Avenue

Invoice Due Date: 07/26/23

Payment Terms: Net 30 days

						Quantities		Extended Costs				
					Contract	Previous	This		Previous	This		Amount
Item	Description of Work	Quantity	U/M	Unit Price	Amount	Applications	Period	To Date	Applications	Period	To Date	Remaining
370	MINOR CONCRETE, CURB	31.00	CY	837.00	25,947.00	0.00	0.00	0.00	0.00	0.00	0.00	25,947.00
380	CURB RAMP DETECTABLE WARNING SURFACE	274.00	SF	57.00	15,618.00	0.00	0.00	0.00	0.00	0.00	0.00	15,618.00
390	STRUCTURAL BACKFILL, RETAINING WALL	175.60	CY	180.00	31,608.00	0.00	0.00	0.00	0.00	0.00	0.00	31,608.00
400	STRUCTURAL CONCRETE, RETAINING WALL	92.00	CY	1,446.00	133,032.00	0.00	0.00	0.00	0.00	0.00	0.00	133,032.00
410	INSTALL PRECAST CONCRETE DROP INLET AND GRATE	5.00	EA	4,203.00	21,015.00	0.00	0.00	0.00	0.00	0.00	0.00	21,015.00
420	INLET DEPRESSION	3.50	CY	925.00	3,237.50	0.00	0.00	0.00	0.00	0.00	0.00	3,237.50
430	HOT MIX ASPHALT (TYPE A)	1,426.00	TON	169.00	240,994.00	0.00	0.00	0.00	0.00	0.00	0.00	240,994.00
440	DATA CORE	1.00	LSU	3,132.00	3,132.00	0.00	0.00	0.00	0.00	0.00	0.00	3,132.00
450	TACK COAT	10.00	TON	262.00	2,620.00	0.00	0.00	0.00	0.00	0.00	0.00	2,620.00
460	24" CORRUGATED STEEL PIPE (0.138" THICK)	110.00	LF	252.00	27,720.00	0.00	0.00	0.00	0.00	0.00	0.00	27,720.00
470	15" CORRUGATED STEEL PIPE (0.138" THICK)	80.00	LF	194.00	15,520.00	0.00	0.00	0.00	0.00	0.00	0.00	15,520.00
480	12" CORRUGATED STEEL PIPE (0.138" THICK)	50.00	LF	268.00	13,400.00	0.00	0.00	0.00	0.00	0.00	0.00	13,400.00
490	6" CORUGATED STEEL PIPE (0.138" THICK)	30.00	LF	180.00	5,400.00	0.00	0.00	0.00	0.00	0.00	0.00	5,400.00
500	24" STEEL FLARED END SECTION	1.00	EA	1,945.00	1,945.00	0.00	0.00	0.00	0.00	0.00	0.00	1,945.00
510	RELOCATE MAILBOX CLUSTER	2.00	EA	4,051.00	8,102.00	0.00	0.00	0.00	0.00	0.00	0.00	8,102.00
520	12" THERMO TRAFFIC STRIPE-CROSS WALK	700.00	LF	11.00	7,700.00	0.00	0.00	0.00	0.00	0.00	0.00	7,700.00
530	4" THERMO TRAFFIC STRIPE, SPRAYABLE	3,200.00	LF	1.60	5,120.00	0.00	0.00	0.00	0.00	0.00	0.00	5,120.00

From: Q&D Construction LLC

PO Box 10865 Reno, NV 89510 Invoice: 16351-002

Date: 06/26/23

Application #: 2

To: City of Portola

PO Box 1225 / 35 Third Avenue

Portola, CA 96122

Invoice Due Date: 07/26/23

Payment Terms: Net 30 days

						Quantities			Exte			
Item	Description of Work	Quantity	U/M	Unit Price	Contract Amount	Previous Applications	This Period	To Date	Previous Applications	This Period	To Date	Amount Remaining
540	6" THERMO TRAFFIC STRIPE, SPRAYABLE	3,200.00	LF	1.60	5,120.00	0.00	0.00	0.00	0.00	0.00	0.00	5,120.00
550	12" THERMO LIMIT LINE &STOP LINE	70.00	SF	11.00	770.00	0.00	0.00	0.00	0.00	0.00	0.00	770.00
560	THERMO TRAFFIC STRIPE, SPRAYABLE	200.00	LF	1.60	320.00	0.00	0.00	0.00	0.00	0.00	0.00	320.00
570	THERMO MARKING, BICYCLE, A24C (8@ 7 sq. ft. ea.)	56.00	SF	13.00	728.00	0.00	0.00	0.00	0.00	0.00	0.00	728.00
580	THERMO MARKING, "STOP"(4 @ 22 sq. ft. ea.)	88.00	SF	13.00	1,144.00	0.00	0.00	0.00	0.00	0.00	0.00	1,144.00
590	REMOVE & RELOCATE ROADSIDE SIGN (WOOD POST)	4.00	EA	409.00	1,636.00	0.00	0.00	0.00	0.00	0.00	0.00	1,636.00
600	REMOVE & RELOCATE ROADSIDE SIGN (METAL POST)	1.00	EA	409.00	409.00	0.00	0.00	0.00	0.00	0.00	0.00	409.00
610	REMOVE, REPLACE AND/OR DISPOSE LANDSCAPE MATERIALS	1.00	LSU	25,625.00	25,625.00	0.00	0.00	0.00	0.00	0.00	0.00	25,625.00
620	REMOVE & RELOCATE DELIVERY BOXES	2.00	EA	585.00	1,170.00	0.00	0.00	0.00	0.00	0.00	0.00	1,170.00
630	RELOCATE SPRINKLER SYSTEM	1.00	LSU	2,921.00	2,921.00	0.00	0.00	0.00	0.00	0.00	0.00	2,921.00
640	ADJUST GV BOX TO NEW AC W/NEW CONCRETE COLLAR.	8.00	EA	1,065.00	8,520.00	0.00	0.00	0.00	0.00	0.00	0.00	8,520.00
650	ADJUST SEWER MANHOLE W NEW CONCRETE COLLAR.	7.00	EA	1,433.00	10,031.00	0.00	0.00	0.00	0.00	0.00	0.00	10,031.00
660	CONSTRUCT NEW WATER METER ASSEMBLY & BOX IN SIDEWA	3.00	EA	4,045.00	12,135.00	0.00	0.00	0.00	0.00	0.00	0.00	12,135.00
670	CONSTRUCT NEW WATER METER ASSEMBLY & BOX OUTSIDE S	5.00	EA	4,190.00	20,950.00	0.00	0.00	0.00	0.00	0.00	0.00	20,950.00
680	1' Driveway Transitions/Conforms	3.00	CY	927.00	2,781.00	0.00	0.00	0.00	0.00	0.00	0.00	2,781.00

From: Q&D Construction LLC

PO Box 10865 Reno, NV 89510 Invoice: 16351-002

Date: 06/26/23

Application #: 2

To: City of Portola

PO Box 1225 / 35 Third Avenue

Portola, CA 96122

Invoice Due Date: 07/26/23

Payment Terms: Net 30 days

Contract: 16351. Portola - North Loop Phase 1

						Qua	ntities		Ext	ended Costs		
Item	Description of Work	Quantity	U/M	Unit Price	Contract Amount	Previous Applications	This Period	To Date	Previous Applications	This Period	To Date	Amount Remaining
1000	TRUCKING	1.00	LSU	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
1010	MATERIALS	1.00	LSU	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
1020	FULL DEPTH RECYCLING-CEMENT	6,114.00	SY	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
3000	CHANGE ORDERS	0.00	LS	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00

 Total Billed To Date:
 207,570.08

 Less Retainage:
 0.00

 Less Previous Applications:
 75,177.04

 Total Due This Invoice:
 132,393.04

Application #: 2

From: Q&D Construction LLC Invoice: 16351-002

PO Box 10865
Reno, NV 89510
Date: 06/26/23

To: City of Portola

PO Box 1225 / 35 Third Avenue
Portola, CA 96122
Invoice Due Date: 07/26/23

Payment Terms: Net 30 days